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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212311604 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212311605 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212311606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212311607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212311608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212311603 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212311604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212311605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212311606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212311607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212311608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123457
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212311609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212311609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212311610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212311610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212311611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212311611 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212311612 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212311612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212311613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212311613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212311614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212311614 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢

ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212311615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212311615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212311616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212311616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212311617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2
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3.3
4.4

Question Number : 14 Question Id : 34212311617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212311618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212311618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212311619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212311619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212311620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212311620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212311621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212311621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212311622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212311622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR U 3 MEfaiad USRI & HIcishd & Yol hd Bl UgdH Diford |

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212311623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212311623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212311624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212311624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212311625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212311625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 27/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212311626 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212311626 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212311627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212311627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212311628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212311628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212311629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212311629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212311630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212311630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212311631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212311631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UTdidd faaH
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212311632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 34/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212311632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212311633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212311633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212311634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212311634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212311635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212311635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 38/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212311636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:

1.D.B. A, C
2A.D.CB
3.CCA.B.D

4.D,B,C, A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212311636 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 39/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212311637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212311637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212311638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212311638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212311639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212311639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212311640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212311640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212311641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 45/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 38 Question Id : 34212311641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁlﬁﬁf@ﬁﬁ%ﬂﬁﬁﬂﬂmﬁﬁﬁaﬁmmﬁﬂﬁwwm?

s Gl\'j Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212311642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212311642 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212311643 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212311643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212311644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212311644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212311645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212311645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212311646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212311646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212311647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212311647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212311648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212311648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
1 g

A |0 L |<fiemadt
B. |qifort II. |@erIRd
C |amug 11 | 3pTeardt
D. |umREE | IV |3yl

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL B-IV, C-IIL, D-I
2. AL B-IL, C-IV, D-I
3. AL B C-IV, D-I

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123458
Question Shuffling Allowed : No

Question Id : 34212311649 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212311650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212311651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212311652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212311653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212311654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212311649 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212311650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212311651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212311652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212311653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. D=1 MBIl T YaT Uga- BT 2fH1d

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212311654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. U9 AR 4 Y U

Options :

1.1

2.2

3.3

4.4

Anthropology

Section Id : 342123155
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123459
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212311655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dental comb in Lemurs is formed by forward projection of:

l. Incisors and canines

t2

. Canines and premolars
3. Incisors and premolars

4. Molars and premolars

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212311655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y H T dhd (3<d BI) Y & RTadl UaT gRT 9T &:

1. P AR G

2. TGP 3R 37 Aquich
3. P 3R 7 99D
4. 99l 3R 3 Fauich

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212311656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The pattern in which anatomical traits and behavioral systems evolve at different rates is called:

1. Mixed evolution

t2

. Non-overlapping evolution
3. Mosaic evolution

4. Multilineal evolution
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212311656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L. THigg faer
2. 3HfdeTd fasr

3. Pied (AND) f[ddr

4. 9gd2 9Dy

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212311657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The fossil remains of Sahelanthropus were discovered from:

1. Nigeria

t2

. Vietnam
3. Chad

4. Kenya

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212311657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

USRI & SHaRA 3aRIY (59 ¥ 4 @l U 2

L. Al
2. faada™

3.dls
4. B0

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212311658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of ‘Inclusive fitness’ was given by:

1. T. H. Huxley

t2

. G. H. Hardy
3. W. D. Hamilton

4. Charles Darwin
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212311658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR R (3 4d ) S SFYRUN 4 & gRI Sl T8 t:
1. 1. U gl
2. Silud. graf
3. &Y. Sl gifieed

4. 9T STidA

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212311659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Periodicity is related to which type of sampling method?

1. Simple random
2. Stratified random
3. Systematic random

4. Multistage random

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212311659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3{1dfdr, fb " UHR &l TR fafy § Grafaid g»

1. Id grefwdch

 IARpd Tefdd
3. AARYd e
4. 98- Tefs

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 56 Question Id : 34212311660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Scammon's growth curve, the highest rate of growth during the preschool years is
observed in the :

1. General growth
2. Reproductive growth
3. Neural growth

4. Lymphoid growth

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212311660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%W%a?qfﬁa%%Wﬂ,mﬁaﬂm{m@ﬁa@faﬂwqﬁaﬁﬁaﬂaﬁaﬁw

1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212311661 Question Type : MCQ Option Shuffling : No

1

2

I gfeg
O g

3. df@Ig gfeg
4. qHIDTH gfeq

Options :

Correct Marks : 2 Wrong Marks : 0

A shift from inbreeding to panmixia may lead to:

|

t2

. Increase in homozygosity
. Decrease in homozygosity

. Increase in population size

4. Increase in population density

Options :

1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212311661 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Ao Y grewy A (GHTHGEn § RIHIiaR0 9 ©f 3R d 51 96 dl 6
GG | gfes

 qHgHSd | g

ST & AR T giee

—

f-2

L8]

4. S U9 | gfeg

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212311662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The fusion of epiphysis and diaphysis is stimulated by:

1. Somatotrophic hormone

t-2

. Adrenocorticotrophic hormone
3. Gonadal hormone

4. Adrenal hormone
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212311662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3iferaef (TOmIEi) iR 2fae (SAGRRY) BT Yod- (% & gRI3=1Ud gidl
 BIUNG (AHICTHSS BIHM)
S (MHIS ) gTHA

4. USHd g

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 59 Question Id : 34212311663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the values of fertility indicate that the population is above the replacement level?

1. 1.9

[
[
—

o

2.0

4. 1.5
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212311663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Qfad & & I HH1 g Jdbd Bd o 1 S8 UIdRITH TR Y FWR g2

5

r2
-2
—

il
1o
=
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Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212311664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erythropoiesis means:
1. Decrease in the longevity of RBC
2. A haemolytic disease of the newborn

3. Increase in the O, carrying capacity of RBC

4. Increase in the O, carrying capacity through the production of more RBCs and opening of

the capillaries in the peripheral tissues

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212311664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Alfed® RIS TS (SUZUUTR) 6T =Y 6
R & ST H 3T

TSI DT U SRR AT

3. R &1 0, dIgd &HdI | g

4. YD RN G R TR Idd! | birdbisd o [agfadl & A1ed ¥ o, digd
&l g g

Options :
1.1
2.2
3.3
4.4

[

B

Question Number : 61 Question Id : 34212311665 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following characteristics is not observed in a male pelvis?

1. Small inferior aperture

t2

. Broad and shallow sciatic notch

L

. Pelvic cavity smaller and deeper in size

4. Small sub pubic angle

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212311665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R i (7 Ufeaw) ¥ FafdiRed § 9 & 9 fagvdr =21 fewars &
Bl aY &g

 faRqe 3IR Iyl SvE Wi (Wiefed A4

3R H AYR R Tg-dR HIfor g1

4. 9 SrISTEIT

Options :
1.1
2.2
3.3
4.4

—

[~

L8]

Question Number : 62 Question Id : 34212311666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The suborder Strepsirrhini of the order primates includes:

1

t2

L

4

. Monkeys and Apes
. Gibbons and Siamangs
. Apes and Humans

. Lemurs and Lorises

Options :

1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212311666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 YIEHCY & Y W0 X ehig | gidferd gid ¢:

[~

L

g R B

4. WY 3R |y

Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212311667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In fingerball pattern types, the Furuhata Index is calculated as:

1 Loops

x 100
Arches

Whorls
Loops

B

x 100

3 Loops
Whorls

x 100

4. Whaorls

= 100
Arches

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212311667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhREId Ued UBRI H, Bogldl Gdbidh ©! (9 UHR T0MH B Skl §:

£l

% 100

2

24 A3

x 100

x 100

x 100

i

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212311668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The ‘coding’ DNA in humans comprises about of nuclear DNA

1. 24%

[E]
h
LF¥]
~=
=]

4. 98%
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212311668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b2
Lh
¥
(=]
=

4. 98%

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212311669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of 'genetic drift' was originally given by:
1. Hardy & Weinberg
2. D. Falconer
3. Sewall Wright

4. Hugo De Vries

Options :
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1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212311669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-3{HdIRIb 3gdlg (SIHfed fSue) & 4o 3quRu 99 & gR1 4l 718 4
1. grel 3R dgAa

2. 8l BledrR
3. Ydrd ASC
4. ggm s dia

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212311670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The dental formula of human milk teeth i1s:

Leidi 183

[
2
o=
i
-2

3.2 192
4.1.0.2.1
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212311670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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9™ & G4 & ald &1 & YA gidl ¢

L.

2

4.

Options :

1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212311671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eustatic Terraces are associated with:

1. Lacustrine geomorphology

[~

3. Aeolian geomorphology

4. Glacial geomorphology

T
F4

[g]

EJ

Options :

1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212311671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ks

. 0.

0.

I:*._)

3

[§

(g

. Coastal geomorphology
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YiRYfdd DR/ AiGHIT fh gy Hrag g2
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2. IS Y- 3T diaqE
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4. Tear Rt 8- ooz
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212311672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The poorly drained ground moraine areas abandoned by continental glaciars are:

1. Karst beds
2. Fluvial beds
3. Lacustrine beds

4. Alluvial beds
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212311672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Helgldiy fgarial gR1 SIS U &4 3{udifge! did eridcl [gHHaY dgdrd g2
1. PRE dd

A dd
3. IR dd
4. il ad

Options :
1.1
2.2
3.3
4.4

[~

Question Number : 69 Question Id : 34212311673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The technique used for preparing Solutrean Laurel Leaf blades was:

1. Clactonian flaking
2. Pressure flaking
3. Levalloisian flaking

4. Tortoise core flaking

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212311673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HideRuA dIive i sigy & o Wgad dedhdid di
1. FeATGe g Tifeba

T TRfeh T

3. AqATIg Tl

4. g3 DR Felfdhl

Options :
1.1
2.2
3.3
4.4

B

Question Number : 70 Question Id : 34212311674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The *Shrine-rooms’ containing large bull murals and clay bull figurines are excavated at:

1. Catal Huyuk
2. Jericho
3. Jarmo

4. Shanidar
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Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212311674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fa=ma auy fuf ot <R 9E®1 auy endpfaal ard 3R - =i Fgl 3@ fer T
1. PIeTd gg®

2. Slgdl
3. SIRHI
4. AMSR

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212311675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The site Chopani-Mando, excavated by G. R. Sharma in the Belan Valley resulted in un-earthing
of:
1. Chopper- chopping tools
2. Handaxe-cleaver complexes

3. Epi- palaeolithic and Neolithic cultures

4. Microlithics of Mesolithic culture only

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212311675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o 91dl | 51 3R, Ml g1 SHd FuH-ARET & URUARGREY HgiRad # O faad!
3HTERY /3Gl g3

|. Pdh-ddd IUDHI]

2. gD eglel -Hhd
3. U1 Ud- UTNS{TUIGTdH 3R FaUmuoidTa- Sebia
4. hdd TN HED A & oY YR STDH0

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212311676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Budh Pushkar lake site in the Thar desert is associated with the evidence of reduction in tool
size between :

1. Abbevellian and Acheulian
2. Choppers and Cleavers
3. Flakes and Blades

4. Axes and Celts

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212311676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UR TEefd H YT 9 G 3iTd Rid fhad o ITH0l bR § HHl & Tied 4 Ueeg g2
. Ussfdeg 3R ufera

Db 3R faeR

3. TRid 3R &gy

4. Hegrel 3R ey

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 73 Question Id : 34212311677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The successive phases of development of pre Harappan and the three distinct phases of Harappan
culture were revealed by French excavation at :

1. Kalibangan
2. Kot Diji
3. Chanu- daro

4. Amri
Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212311677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fb T e IR il 38 gR1 Yd-gS Wl & aRUN 94T gl Tidhid & i fafm @Rui &
HIHDT 3l f[dbTY TRUT 319t gU 4?

L. BIcE
2. Pleglsl

3 a;ﬁag
4. 3T

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212311678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The evidence of the child burial of Jorwe period in double urns with grave goods was found at:

1. Nevasa

2. Kayatha

[FS]

. Navadatoli

4. Khurdi
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212311678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 80/183



8/31/24, 10:29 PM
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f-2

4

Har
BT
ECIHEE]!

Gl

Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212311679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Longevity is a/an

1

t-2

L8]

. Independent variable
. Dependent variable

. Nomuinal variable

4. Ordinal variable

Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212311679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. Wad @R

f-2

T =R
3, JAMHAE TR

4. HIH =X

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212311680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following did not study Jajmani system?

1. W. Wiser

t-2

. C. J. Fuller
3. T. Beidelman

4. I. Hutton
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212311680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeiRad # ¥ fba- STorrT gorit &1 sieg =gl fdhar U
. S&Y, dIgSR

LS. eR

NG RC RS EE

4.9 ged

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 77 Question Id : 34212311681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The restudies conducted by Oscar Lewis and Derek Freeman have been criticised about the
methodological aspect related to :

1. Validity
2. Reliability
3. Duration of fieldwork

4. Lack of hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212311681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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H”Taﬂ%?grﬁ@ﬁ?éiﬁuﬁﬂqmmwgqﬁmﬁaﬁmuﬁmm%aﬁﬁw
GAl ;

L. e

2. fayg=ad

3. 8T B DI 3afy
4. GR& T BT HH!

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212311682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The anthropologist who combined historical and Indological approaches in the study of Indian
soclety 1s :

1. S. C. Dube
2. F. G. Bailey
3.L. P. Vidyarthi

4. Iravati Karve

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212311682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gﬂ?ﬁnwa? 31eqg 1 Ufdeiide 3R YR fae SunTl &1 wgrd &3 dicl A4 faail

1. Ucs. Wl gd
2. U, Sil. &l

3. Tq. Ol faendf
4. 30l DI

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212311683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books dealt with the impact of administrative policy, with special
reference to excise policy (liquor) ?

1. Economic Development and Social Change

2

. Caste and the Economic Frontier
3. Indian Village

4. India's Changing Villages

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212311683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Id1E Yoo A1 (IRTE) S TR S Hifcdl & qusnd &1 g Hafaied 0 9 fag
QX & T BT U g2
1. 3P IS Sdeudc Us UIRId 9w
2. HRE US G ShHITHD WhiedR
R CUE NGRS
4. Sfearst dfsi fqasis
Options :
1.1
2.2

3.3
4.4

Question Number : 80 Question Id : 34212311684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The distinction between descriptive and classificatory systems of kinship was made by L. H.
Morgan in his work

1. Systems of Consanguinity and Affinity
2. Ancient Soclety
3. League of Iroquois

4. Evolution of Society

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212311684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT B [qarunetd SR aiidRudbRI Yunierdl & Aeg f[ag Ud. Ud. A gRI 391 fhy
T/ pid | fbar mar 4m

1. [¥EeH 3115 AT Us Ui

2. TR G d

3. 7T 3% g3y

4. 3R 3T FIURICT

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212311685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Language is a force in its own right, that it affects how individuals in a society perceive and
conceive social reality. This view was expressed by:

1. Noam Chomsky
2. Edward Sapir and B. Whort
3. Franz Boas

4. Dell Hymes

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212311685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIYT 3104 W4 & 3HYHR T U Ufdd © ol foh T TANS H ik TS g1 & i
3{4Yd D g 3R Yld [daR ®ed g1, 24 UHIfdd ddl g1 gg fadR & gRI Had
CRIRIEI

L. =T FTRhl

2. U393 YR 3R &t a1
3. IS S13(TY

4. 5d [gHY

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212311686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Panchavati Raj Institution as a three tier administrative system was recommended in the
committee report headed by:

1. Ashok Mehta
2. Balwant Rai Mehta
3. Dilip Singh Bhuria

4. Kaka Kalelkar

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212311686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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{99 BT 3<&AT & 3favid Il & Uldded | SRR 3-9IUH Y= Guiel o sifigd
By U] IS Y=ITH D =TT 61 TS 62

L. 312 Hgdl

2. ddd-d I Hedl

3. feefiy ¥ yivan

4. BIH] HIAAd
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212311687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Exchange between individuals results in social harmony’, is central to the concept of:

1. Social contract Theory
2. Transactionalism
3. Kula

4. Network Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212311687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 89/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

fdaal & o= faf g &1 uRomm amifse Iiers gidT €, 98 Y 3auRu &7 &< &
gD 3 feard

—

f-2

3. Pl

4. e g

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212311688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea that primary institutions determine the basic personality structure in a culture, which in
turn determines its secondary intuitions is attributed to:

1. Franz Boas
2. Abram Kardiner
3. Ruth Benedict

4. Gregory Bateson

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212311688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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39 99, & urifis SR G Wi &1 SMUR afddd IR & FeiRd ad g, S
dad ¥ 3Y9d fgdiad GRIMl ol HUiRd Bd 8. BT G HHET Sl § -

1. TTST 13T
R BIFSTR
3. PY IS
4. YR 44

Options :
1.1
2.2
3.3
4.4

I

Question Number : 85 Question Id : 34212311689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following anthropologists suggested that conflict is not pathological but
contributes to the functional integration of a society?

1. A. R. Radcliffe- Brown
2. Max Gluckman
3. B. Malinowski

4. Clyde Kluckhohn

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212311689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafeRad # 9 o Ard e J g8 g4 e fo o fap s =& 811 8 g 9A
& UPHHD GHDHE H Jgdi Hdl o2

1. U 3R, ISdW - §134

2. Al THH
3. . AfeFTo!

4. HIASS FAHEH

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212311690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term ‘prestation’ is attributed to:

1. B. Malinowski

t-2

. Raymond Firth
3. Marcel Mauss

4. Emile Durkheim
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212311690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 92/183



8/31/24, 10:29 PM

g28.digialm.com/CAE/viewHtmIPDFAction.action

Tec;, UM (T i) & ra= {1 Sl © -

1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212311691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1

7

3

&I, AfcHIomD]
3HUS By
A AN

4. U g@sA

Options :

The concept of ‘muted-groups’ in anthropology is attributed to:

1

t-2

. H. L. Moore
. Edwin Ardener

. Sherry Ortner

4. Marilyn Strathern

Options :

1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212311691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AHafaF | RS - Y6 (YD Idhd TG i SAURUT &1 99 1691 J1dT ¢:

—

f-2

LT R
TS 3SR
2R HTER

4. ARfeH Wed

Options :

1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212311692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following anthropologists associated kinship with demography and modes of

production ?

|

2

4

. Robin Fox

. C. Levi-Strauss

. Maurice Godelier

. Karl Marx

Options :

1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212311692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad § 9 &1 T AHd d91H® 3 AldaR] & S9iRd! 3R Id1GH & IigHE! J e
fham

BRUCERAC

2. 91, ddi- %™
3. ARG Mo
4. DIl A1

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212311693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Connubium refers to:

1. Relationship between tribes and peasants

(]

. Relationship between urban and rural areas
3. Relationship between community and communitas

4. Relationship between witfe giving and wife taking groups

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212311693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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—

f-2

L

4

 SITGATRAT 3R HYDI & did

ST R ATHIO &7 & off T ey

B SR YT & o Gra

Ul - &1 dTcl 3R Ul - o a1t Gl & oid Tra

Options :

1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212311694 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Medical pluralism, as a concept was developed by:

1

t-2

. Charles Leslie
. George Foster

. W.H.R. Rivers

4. Arthur Kleinman

Options :

1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212311694 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Tdh 3FHYRUT & ¥U I Rihadid 9gdie (9 & gR1 faefid fhar mar o
1. Ted ol

. SiTSl IR

4. 3R FAT

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 91 Question Id : 34212311695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following fingerball patterns in descending order of their
frequency in the world population:

A. Plain arch
B. Loop

C. Whorl

D. Tented arch

Choose the correct answer from the options given below:
1.A.D,B,.C
2.B,C,A, D
3.C,D,B. A

4.D,B.C A

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212311695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafad siTadyd fa=amal &1 9y S8 1 396! aid & SaRigl 1 & IR Jal
34HH H IR D |

A, JHAT dU

B. U/ UG Sl
C. dddhigql¥
D. 3T=dc-l 91

= fou e faeed! # O O IR 31 997 ST

1.A;,D,B,C

[

.B,C,A, D
3D, B A

4.D.B,C,A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212311696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following books in ascending order of their year of publications.

A. On the Origin of Species by Means of Natural Selection
B. Descent of Man

C. Evidence as to Man's Place in Nature

D. The Antiquity of Man

Choose the correct answer from the options given below:

1.A,B,C,D

I

A, C,B,D

3.D.C,A.B

4.C,A B,D
Options :
1.1
2.2
3.3
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4.4

Question Number : 92 Question Id : 34212311696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeIRad Q! &1 Id UHRM 9 & IR 3RIE HH § Taieyd &1 |

A. 319 & 2RISH 2 TR 918 419 31 493d [addheH
B. SUC 3HH &
C. 3[dSY Ul ¢ 09 Wi¥ 2 R
D. f& THaLT 3 A4
1< ST U [qehedl § U U5l SR B 99 DIfoIg:

1.A,B,C,D

2.8 C.BD
32D CAB

4.C,A B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212311697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fossil finds in the chronological sequence of discovery:

A. Australopithecus
B. Homo habilis
C. Neanderthal Man
D. Homo erectus

Choose the correct answer from the options given below:

1.B. DA, C

f-2

A, C.D.B

3.D.C,B,A

4.C,D,A,B
Options :
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1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212311697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafcfad Sliamey uiftrd! &1 @i & SIS TS H4HH &I ugdH S|

A. AHIETAUdeg
B. B! galfery
c. MuTsdd Ay
D. gIHI 3&2Y
Hid fau U fad el § 9 Tg1 IR &1 99 SIfoIe:

1.B,. DA, C

[

A C. DB
3iD,C,BA

4.C,D. A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212311698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the stages of adulthood from the beginning to the end:

A. Transition

B. Prime

C. Senescence

D. Gradual decline

Choose the correct answer from the options given below:
1.A,B.D.C
28 B.CD
3B, DA C

4.B.AD,C
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212311698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B3I 3{d T a%hal o IRUN &l AR d By

B. TR/ U9
C. TR/ HI&TUA
D. BiHS HIgH

+1d feu U fadh el § 9 Tl R &l 99 i

1.A. B, D, C

2A.BCD
3B, DAC

4.B.A.D.C

Options :
1.1
2.2
3.3
4.4
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Question Number : 95 Question Id : 34212311699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the distribution of A, B. AB and O blood groups from the highest to the lowest frequency
among the world populations:

A O
B

onw
B oo

Choose the correct answer from the options given below:

1.B,C 1A
DoADC B
3.A,B.D,C

4 A,C,D.B

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212311699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Joddd U gy 3igii 4 A, B. AB 3R 0 Yokd 9YgI & di%eh [ddRl &l SHaieyd |

A.O
B. AB
il &
D.A

A< ST U [qhedl § 9§ Tt 3R B 99 DI

1.B,C,D,A

I-2

A D C. B
3.4,B.1,C

4 A C. DB
Options :
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1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212311700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the racial categories identified by H.H. Risley in Indian population form Northwest to
Eastern India:

A. Indo Arvan

B. Aryo Dravidian

C. Turko Iranian

D. Mongolo Dravidian

Choose the correct answer from the options given below:
1.D,B,AC
2.C,A,B,D
3488, D

4.C,B,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212311700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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39 Ui I 9df YRd & $H H YRdG SHYe # U, U, ReTd g1 9gdH! 15 uedig 4ot
DI IR BN |

A. 381 3

B. 3 gfdg

C. g ST
D. H7d gfda

14 feu e oot & @ €t IR b1 90 BIfe:

1.D,B,A,C

[

.C.,A,B.D
3.A,B,C.D

4.C,B.A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212311701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following geological epochs in chronological order from the earliest to the latest:

A. Miocene
B. Eocene

C. Pliocene
D. Oligocene
E. Palaeocene

Choose the correct answer from the options given below:

1.ACE DB

]

;BB Do €
3.C8B,DAE

4.D,C,B,E, A

Options :
1.1
2.2
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3.3
4.4

Question Number : 97 Question Id : 34212311701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URMHS U 3feld deb % Y- 7T &1 Hafyd B |
A. HIEITRH
B. 3UINH
C. w3
D. IR
E. U3t

14 feu e fasett & @ &t IR b1 99 S

1. ACEDB

2. E.B.DLAC

3.6, B, D AE

4.D,C,B,E. A
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212311702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following European prehistoric cultural variants in sequential order from the earliest
to the latest:

A. Azilian

B. Chatelperronian

C. Denticulate Mousterian
D. Natuflan

E. Magdalenian

Choose the correct answer from the options given below:

LA DCEB

b2

B D AE
3.C,B,EAD

4. B,.A,C,D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212311702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URIYS U eI & HHTIT 3Ihd H U Ui -Ufdgiiie gikehids uldesy ¢

A. Toliferge
B. TR
C. S<iPaic AR
D. Aefthad
E. HSTe-uA
A fGu U [dd el # 4 gl IR &1 994 HIfIE:

1.A; B, C,E; B

[

BB AE
3.C,B,EA,D

4. B, AC,DE
Options :
1.1
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2.2
3.3
4.4

Question Number : 99 Question Id : 34212311703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the chronological order of domestication of animals from the earliest to the latest.

A. Dogs

B. Birds and Fowls
C. Cattle and Pigs
D. Goats and Sheep

Choose the correct answer from the options given below:
1.A,D,C.B
2.B.C,A.D
3.D.AB.C

4.C,B.D. A
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212311703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URIYS H 3T I qYs{f i UTeld 591 S & HIcIh fd b T BT 98- Hi |
AP
B. GafT R i
C. TRl 3R gaR
D. 9H31 R HS

1< ST U [qehedl § U U5l SR B 99 DIfoIg:

.A,D,C,B

[

B.C.AD
3:PD.AB;C

4.C,B,D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212311704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following approaches in the chronological order of their systematisation and
emergence in anthropology:

A. Development anthropology
B. Action anthropology

C. Practicing anthropology

D. Applied anthropology

E. Engaged anthropology

Choose the correct answer from the options given below:
1.D,B,A, C.E
2Z2H.BAE.E
3.A DB ET

4.8 BB C.E

Options :
1.1
2.2
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3.3
4.4

Question Number : 100 Question Id : 34212311704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfeRad IurTEl &1 JHd 99 H 3-d 3+Gd 31R YUTIHR] o HIahd H Aaieyd Hi|

A. [a®9 9Ha fagH

B. ®Rdls A4 a3

C. dgRargl A4 fa3
D. W A4 faiE
E. 37 A4 fagH

14 feu e fasett & @ &t IR b1 99 S

1. D, B, A E

[

.D,B,AE, C
3..D.B.E C

4 A D, B,C.E
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212311705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following books authored by Levi-Strauss in the chronological order of their
publications:

A. Totemism

B. Structural Anthropology

C. Elementary Structures of Kinship
D. Mythologiques

Choose the correct answer from the options given below:

1.C.B.A. D

b2

ACBDC
3.B,A.C.D

4 A.C.,D,B

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212311705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ddl - &Y & gRI afd 773 1 afiRad TEi®| &1 3-d UHTRH ay & IR Haiedd ol |

A, TrefieH

B. WdaRd UYgIdlsil

C. Taiiiel Wadd 3% fh-rRm
D. ATSUASY

+1d feu U fadh el § 9 Tl R &l 99 i

1. C.BA. D

f2

A B BC
3:BoACD

4.A,C,D,B

Options :
1.1
2.2
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3.3
4.4

Question Number : 102 Question Id : 34212311706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the units of Robert Redfield's study on Folk-Urban continuuimn in the correct order from
tolk to urban:

A. Chankom
B. Merida
C. Dzitas

D. Tusic

Choose the correct answer from the options given below:

1.B.C.D. A

[

DA B C
2. DAC B

4.A.D,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212311706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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?;@%ﬁ%mﬁaﬁhﬁ%%%-%ﬁmam&%ﬁwﬁﬁraﬁm@m
|

A. TAHIH
B. AE]
c. forerg

D. A&
= fou e faeed! # O O IR 31 997 ST

1.B,C,D, A

2.D,A,B,€
3. 0A CB

4. A.D B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212311707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following fieldwork traditions in Anthropology in chronological order:

A. Anthropological (inter-disciplinary) expeditions
B. Participant observation

C. Armchair anthropology

D. Restudies

E. Participatory research

Choose the correct answer from the options given below:

1. AJE.D.C.B

]

AT A B, D E

3.CB,E, DA

4.A.B.E.C,B

Options :
1.1
2.2
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3.3
4.4

Question Number : 103 Question Id : 34212311707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A4 {99 o FEfaRad aard WuRIs @1 SIerbhHdR Hard $1 |

A. HFG {9914 (3R - [avard®) &d
B. UfaH 3T Uam

C. 3H IR 74 fagH

D. G300

E. UfdHRT 2y

- feu 7 faded! & 9 9l IR &1 984 Bifoid:

L. AE B E. B

[

.C,A,B,D,E
3.8, E. DA

4. A,B.E,C,B
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212311708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following approaches/ perspectives in their correct order of emergence in
‘Development Anthropology’:

A. Participatory approaches

B. Neoliberal and Globalisation

C. Critique of modernisation

D. Dependency Theory

E. Sustainable development approach

Choose the correct answer from the options given below:

LC, DA B E
22D, C.B,AFE
1 D,C,AEB

4.C,D,B.E.A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212311708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g A faxm | fafciRad STWHERSIUT & 3wgd o Gol 3HH H Tdiyd Hi.

A. Uyt SurE

B. TA3GRAIG 3R dHiH0l

C. 3MHDIH] B T

D. (ARl fgid

E. YYRUIY (Y40 f[ddhryg 3unmd

14 feu e faseut & @ gt IR b1 99 Bifoe:

1.C, D, A B, F

2.D,C.B.AE
3.D,C,AE,B

4.C.D.B,E,A
Options :
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1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212311709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following perspectives in their chronological order of development

A. Neuro Anthropology

B. Cognitive Anthropology

C. Psychological Anthropology
D. Culture and Personality

E. Symbolic Anthropology

Choose the correct answer from the options given below:
1.D,C,B.E,A
2D.B.C.E. A
3.C DB EA

4.D,C.B,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212311709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad <o @l 396 f[db & HIa-HH TS HIhT U AdeUd Hi|

A. AP AHY fagH

B. UIAIHD HH4 [a9H
C. AAaTIH® A4 fagH
D. Y3 id 3R Afddd

E. UdI&THS HE4 fagH

= fou e faeed! # O O IR 31 997 ST

1.D,C, B, E, A

2.D,B,C,E, A
3.C,D.B.E. A

4.D.C.B.A.E
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212311710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Racial theories during the nineteenth century encompass the following features:

A. Humans could be divided into fixed number of races.

B. Moral and intellectual capabilities were not evenly distributed among races.
C. Mental capabilities were associated with specific racial features.

D. Races are geographically isolated.

Choose the correct answer from the options given below:

1.A. B & C Oanly
2.B,C & D Oaly
3.B & D Only

4.C & D Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 106 Question Id : 34212311710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IANd! 2aTsdl DI 3@l & Ui Rl | afatad denr afafga &
A. T &1 TSIl B Teb fad T 4 fqysiford foar o gabar ol
B. AT & o9 Afde R difead emdrd $HH =0 ¥ fadid 781 of|
c. ifegd &dTy fafre uSiTdig deun I Wes A
D. UelTiadl HiTifdd &9 4 gud 4|

A< ST U [qhedl § 9§ Tl 3R B 99 DIfeg:

1.Bdd A, B3R C
2. $hdd B, C 3R D
3. $Hdd B R D
4. Had C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212311711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following characteristics are found among the Inuit populations, but not among
tropical dwellers?

A. Ectomorphic somatotype

B. Increased metabolic heat production

C. Greater transfer of heat to the extremities
D. Greater surface area to body mass

Choose the correct answer from the options given below:

1.B,C & D Only

b2

. C & D Ouly
3.B & C Only

4. A, C&DOnly

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212311711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁ@aﬁﬁﬁﬁﬁﬁﬂﬂﬁﬁmﬁﬁ%ﬁaﬁmaﬁ%mw
CIERRK

A. THEIHIdH FIURRY

B. 961 g SUMg=dl 3™ IdTe

C. YT &1 I BT FguR VIR

D. RIR® 0 &I o1 § 95wk ¥ &% d

19 U U el § § 98 IR &1 904 ST
1.$dd B, C 3R D
2. hdd C 3R D
3. HddB 3R C
4. HAd A, C 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 108 Question Id : 34212311712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following consanguineous marriages, the coefficient of inbreeding is the same?

A First cousin
B. Double first cousin

C. Half sib
D. Uncle niece

Choose the correct answer from the options given below:

1.C & D Only
2.A,C&DOnly
3.B,C & D Oaly

4. A & B Only
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212311712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad o O fo R faargl ®, si:gsiH- Tulid 90 gidl g2

A. BT FHioH

B. Sd B Hio
C. T%h g

D. 3idhd Ag

e fau 1T f9ehetl 7 9 HEt SR b1 99 SIS
1.%dd C 3R D
2. $Had A, C AR D
3.$HddB. C 3R D
4. had AR B

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212311713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At the end of the first year of postnatal life:

A. the length of a child increases by 50% of the birth length

B. the weight of a child increases by 200% of the birth weight.

C. the length of face of a child increases by 10% of the facial length at birth.

D. the head circumference of a child increases by 15% of the head circumference at birth.

Choose the correct answer from the options given below:

1.C & D Only
2. A& DOnly
3. A& B Only

4. B & C Only
Options :
1.1
2.2
3.3
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4.4

Question Number : 109 Question Id : 34212311713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TYd - UYTq Silad & YT Iy & 3 TR

A. R &1 TEE SH- & 900 &1 dHEls &I ol H 50% 96 Sl o

B. I &1 9 5 & G0 & T &1 a1 T 200% &€ S |

C. TR & dgY B IS S & GHY &l U &l dvely B a1 H 10% §¢ Sl ¢
D. TR & R &1 uRTY =1 & 97d &l R ST 9IS &1 o1 H 15% 9¢ SIdi ¢

1< ST U [qehedl § U U5l SR B 99 DIfoIg:

1.C & D Only

2. A& D Only
3. A& B Only

4.B & C Oanly

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212311714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the Hardy- Weinberg law to operate, which of the following conditions must be met?

A. Population size should not be more than 10,000
B. Mating should be random

C. No natural selection operating

D. Gene flow should be high

Choose the correct answer from the options given below:

l.A&DOnly

t-2

. C & D Ouly
3. A& B Ounly

4. B & C Only
Options :
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 121/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212311714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gIaf - g9t & Idld- & IR, FgfcRad o 9 &9 9t 2rd gl g1 =1fgwe

A. ST 3THR 10,000 T AfEH Tl g1 AligU|
B. AN Tlefwsd gl dligd|

c. ®is Yl uipldd =g fbardd gl g1 difgu|
D. G4 Udlg 3= gl diigu|

+1d faU U fad el § 9 TE1 IR &1 99 IfoIe:
1. %dd A 3R D
2. $Had C 3R D
3. HddARB
4. HadB AR C

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212311715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following features are true for high altitude habitations?

A. Cold temperature

B. Intense solar radiation
C. Excessive vegetation
D. Hypoxia

Choose the correct answer from the options given below:

l1.A.B & D Only
2.B,C & D Only
3. A& DOnly

4. A, C&DOnly
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212311715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 71 Ay - R & U HafaRad 3 9 $iF U d&r 9 g2

A. BUS A9HH

B. dig TR fafdeor

C. AAH I-mfdd WRIgy
D. T 3HTRRIdr

Choose the correct answer from the options given below:

1. Had A, B3R D
2. Had B, C 3R D
3. %dd A R D

4. HdAA, C3RD

Options :
1.1
2.2
3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 123/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
4.4

Question Number : 112 Question Id : 34212311716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is true about the first discovery of Australopithecus ?

A. The first discovery was from South Africa
B. It is dated to about 20 mya

C. It was discovered by Raymond Dart

D. The fossil was of a child

E. It belonged to A. robustus category

Choose the correct answer from the options given below:

1.B,C & E Only
2.A,C&DOnly
3.A.B & CQOaly

4.B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212311716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR HT yyd @i & favg & 1 9d g»

A. Ugil @I &férr 31l H g3 |

B. g 20 Aferad a¥ yd o Srel-Feiid fhar Srar g
C. 3UIHUS B¢ & gRI WIS 747 UT|

D. AN Udh 9= & Y|

E. U8 U 37 U ey o =T1d 2T o7

i feu U faaed! # 9 I IR &1 90 S
1. $dd B, C AR E
2. HId A, C 3R D
3. HId A, B3R C
4. $ad B, D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212311717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following proposed the theories related to the dispersal of modern humans?

A. M. Stoneking and R. L. Cann
B. C. B. Stringer and P. Andrews
C. M. H. Wolpoft
D. Gunter Brauer

Choose the correct answer from the options given below:

I.A.B & C Oanly

t2

.B,C & D Only
3.B & C Only

4. A & B Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 113 Question Id : 34212311717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad 9 fe-eld sneyfd T4 & faeR1d (UHivH) I Grai=Id feidl o1 uediidd faan

A. TH. WHIHT 3R 3R, Ud. H
B. 9l dl. TR R U =g
C.UH. Ud. dlcdl®

D. R S8R

e feu 1T f9hetl 7 9 FEt SR b1 99 SIS
1. dd A, B3R C

Hdd B, C ARD

3. Hdd B 3R C

4. Hdd A 3R B

Options :
1.1
2.2
3.3
4.4

[

Question Number : 114 Question Id : 34212311718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The earliest evidences of caring for the disabled are well represented in the fossil records as:

. an amputee discovered at Shanidar cave

. a man crippled by arthritis at La-Chapelle
. a broken female femur at Swanscombe

. a broken skull of a child at Mas de Azil

0N W

Choose the correct answer from the options given below:

1. A& C Only
2. A& B Only
3.B & C Only

4. C & D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212311718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[CETSHl &1 U B &b ARTHD 1 Y SidrRH AHeRdl gRI dga? & Ud g |

A. TSR 0T 1 U U 41T

B. AT A4S H Siedrd 9§ Id Udh fdd

C. WHIH H UH Wiad Aigd bR

D. R ¢ 35d H U didd B disd Hurd

Hid faU U fad el § 9 Tg1 IR &1 99 Sifoe:
1. Hdd A 3R C
2. Hdd AR B
3. ®HdAB 3R C
4. Pad C 3R D

Options :
1.1
2.2
3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 127/183



8/31/24, 10:29 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
4.4

Question Number : 115 Question Id : 34212311719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The prehistoric rock art at Bhimbetka- the World Heritage site, depicts:

A. Human figures

B. Pregnant women

C. Farming activities

D. Warriors on horses

E. Animals such as rhino, boar and elephant

Choose the correct answer from the options given below:
1.A.B & C Only
2.A.B &E OQOnly
3.A.C&DOnly

4.C,D & E QOnly

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212311719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MdedT - 9y [ayd ®id, $1Y9 Wih- Udeiid Ad Sl (=10d Sl &

A. HIATT 31pfaar

B. THqd! Afged

c. By fharddm

D. SYRIg! aleg]

E. 7131, 3R 3R gl 1Y U

i feu U faaed! # 9 I IR &1 90 S
1. Had A, B AR C
2. Hdd A, B 3RE
3.$had A, C 3R D
4. Had C,D 3ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212311720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ethnographic records and observations are used in Ethnoarchaeological understandings of:

A. Pygmies of Congo by Schaffer

B. 'Kung San by Yellen

C. Australian Aborginies by Gould

D. Nunamiut People of Alaska by Binford

Choose the correct answer from the options given below:

1. A & B Only

t2

.B & C Only
3.A.C&DOnly

4.B,.C & D Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 116 Question Id : 34212311720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Folifaaui sl SR Y&l BT UGN fargd! Follfa-RIdaid—a 93 | fdar 71 g2

A. TR GRI ST o et
B. Ui gRT 3R G
C. Tt gRI 3Referrs gal-anrd!
D. [§5IS RT 3ARBI & TGS &l
A< ST U [qhedl § 9§ Gl 3R B 99 DI
1. hdd A 3R B
HddB 3R C

3. Hdd A, C IR D

[

4. HadB. C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212311721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are correct for radio-isotopic dating method?

A. The decay occurs to unstable isotopes
B. The decay is spontaneous
C. The half life of all the radio-isotopic elements is the same

D. *°K is radioactive; and slowly decays to 40 Ar
Choose the correct answer from the options given below:
1. A& B Only
2.B.C &D Oaly
3.B & D Oanly

4. A, B & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212311721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISU-gHRIS HTd [HYUR A1 & TR H [AgiRad 5 9 S HY $24 9ol 82

A, JIRR RIS H 3/@er gfed giar g |

B. 3{d&Y G SIdI 5|
c. Ui ISl - SRS ddl DI R 991 g |
D. *Kk TS5 8. 3R He - He *0ar H 3a&RAd gIdT |

i feu U fadedl & 9 UEl SR &1 99 DI
1. had A 3R B
2. $had B, C 3R D
3.%ddB ARD
4. HdAA, B3R D

Options :
1.1
2.2
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3.3
4.4

Question Number : 118 Question Id : 34212311722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The important limitations of observation technique in research are:

A. it only generates qualitative data
B. issues of reliability

C. observations are perspectival

D. deluge of data

Choose the correct answer from the options given below:
1. A & B Only
2.B & C Only
3.C & D Only

4. A& D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212311722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MY H Y& db-idh &I Ayl WiHddm g:

A. U8 $ad UTHS s Idd Bl ¢
B. fayg-gar & g,

C. Y& URVEITES Bid ¢

D. 3iH sl Bl YAl

Choose the correct answer from the options given below:

1. Hdd A AR B
2. HadB AR C
3.%ad C 3R D
4.%dd A SR D
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212311723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The critical aspects of Participatory Action Research are:

A. Collaboration

B. Participation of people
C. Participant observation
D. Domination by outsiders
E. Social change

Choose the correct answer from the options given below:
1. A& C Only
2. A& D Only
3.C & D Only

4. B & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212311723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UTIHAT fohaTed® Y o S-S U8 ¢

A. TgaI

B. AT 1 UidHTiTar

C. Uiy 3l veor

D. d1g31 Afadyl &1 Uy«
E. UHETSS URddd

i feu U faaed! # 9 I IR &1 90 S
1.Pdd A 3R C
2. HId A RD
3.%ad C 3R D
4. HIdB 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212311724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Edmund Leach's study of the Political System of Highland Burma showed that a group can be
characterised as:

A. Single social system

B. Multiple social systems
C. Uniform culture

D. Multiple cultures

E. Balanced equilibrium

Choose the correct answer from the options given below:
l1.A. C & E Ounly
2. A& C Only
3.B & D Oaly

4.D & E Only
Options :
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1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212311724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

USHS ofid &1 sz -uifdidnd RReH S glsds I GXIdI ¢ fdb byl 9gg gRI
fafeRad wefid fy =i 8

A. Uhd gETeid Uit
B. agﬁawﬁaiuvﬂ?ﬂui
C. Uh Ul Tipdl

D. dgidg Sehiad
E. GAdfeld YadcdiD

19 fou U el § 9 98 IR &1 94 ST
1.®dd A, C 3R E

hdd A 3R C

3. HddB 3R D

4. Had D 3R E

Options :
1.1
2.2
3.3
4.4

R

Question Number : 121 Question Id : 34212311725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Cargo Cults of the Melanesian culture of the Pacific region are categorized as:

A. Mobility movement

B. Nativistic movement
C. Millenarian movement
D. Identity movement

Choose the correct answer from the options given below:
1.A&DOnly
2. A& B Only
3.C & AOQOnly

4.B & C Only
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212311725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁgﬁﬁwaﬁﬁaﬁﬁ}mmﬁ%wﬂaﬁaﬁ o =0 o qifiepd faa
]

A. I il

B. WUWP(d HiclaH

C. HgHles 3iciaH

D. UgdH aHialed

A1 fu 71U f[ddhet! & 9§ Ul 3R &1 98 HIfe:
I.hdd A 3R D
2. had A R B
3. hdd € 3R A
4. had B 3R C

Options :
1.1
2.2
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3.3
4.4

Question Number : 122 Question Id : 34212311726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The vulnerability of the PVTGs is mainly because of:

A. Encroachments into their command area

B. Negative consequences of contact with other communities
C. Declining population

D. Lack of literacy

E. Identity crisis

Choose the correct answer from the options given below:

1.C & D Only

[

.B & C Only
3. A& B Only

4. A & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212311726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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didieroll &f goaal Gy 4 B BRI

A. 3P AUBR &7 H ffapau

B. 3 GGl & 91U YUud & ThRIAS TR
C. "Tedl g3 S

D. 9I&RdI &I Bl

E. UgdH e

d feu U fqdhedl & O Ul SR &1 994 Hifeg:
1.$hdd C AR D

2. HIdB AR C
3. Hdd A 3RB
4. Had A AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212311727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If religion is a pattern of symbols, then the task of anthropology is to interpret, translate or decode
the symbols. This was pursued by:

A. C. Levi - Struass
B. Victor Turner

C. Sherry Ortner
D. Clifford Geertz

Choose the correct answer from the options given below:
1. A & B Only
2.B & C Only
3.B & D Oaly

4. C & D Only

Options :
1.1
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2.2
3.3
4.4

Question Number : 123 Question Id : 34212311727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R o Yebdl BT UeH g 1 U4 (937 &1 1 Yebdl &1 ARSI, 3G Al SIS HA1 g
g 3P &R fobar T |

A. 9l dfdeiy
B. [ddeR R

C. I 3TER

D. fGawTs e

H1d fu 71 f[adhet! § 9 Ul 3R &1 944 Hife:
1. hdd A 3R B
2. had B 3R C
3. Had B 3R D
4. dad c AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212311728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The differences between traditional anthropological methods and participatory methods like PRA
are:

A. Data remains with the people and they own it

B. The methods are more objective and focused

C. No hypothesis is tested, hence not scientific

D. People understand their own problems and arrive at solutions

Choose the correct answer from the options given below:

1. A & B Only
2.B & C Only
3. A&DOnly

4. A & C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212311728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URUNG A4 a9 Teaiaat, ufauntt i o femu I feg g 4 fia g--
A. S AN & U IEdi & 3R d 39dh Hifldd gld g |
B. Ut adi w1gl f[auaf_y iR digd ol
c. fordt uReeaa1 &1 ufkeor 98t foan Sirar, gufen a9 I8l e
D. T 30 W B GHEU G § 3R a1 IR Ugdd T |
T fau U fadedl § U Ul 3R &1 994 DIl
|. HAdA3RB
2. HaddA B 3R C
3. Hdd A AR D

4. Had A AR C

Options :
1.1
2.2
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3.3
4.4

Question Number : 125 Question Id : 34212311729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ambilocal residence type. the couple may choose to live

A. Patrilocally
B. Matrilocally
C. Amitalocally

D. Avunculocally
E. Neolocally

Choose the correct answer from the options given below:
1. A & B Only
2.B & C Only
3.C & D Only

4.D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212311729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SHIRS A ISR ASufd A 9ad e

A. Ofd 1P

B. Jdll RITH®H

C. §3- RIS
D. O1dd ¥IH&H
E. TS

i feu U faaed! # 9 I IR &1 90 S
1.®dd A AR B
2. HIdB AR C
3.%ad C 3R D
4. HIAD 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212311730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-I List-IT
Scholars Concepts
A |W.C. Boyd [. |Growth and Nutrition
B. | Theodosius Dobzhansky II. Pm_pose:;i th.e use of ABO as a
; racial criteria
. |Hirschfeld and Hirschfeld III. | Genetic definition of race
5 [ Bl 5 asde v U s-;d nonac}qptn_‘e criteria in
racial classification

Choose the correct answer from the options given below:

1. A-III, B-1V, C-1I, D-I

2. A1V, B-III, C-1, D-II

3. A-IL B-1, C-IV, D-IIT

4. A-IV, B-111, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212311730 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

= i3
HIUTYUMY
A |gecy 9l 9108 1. | gfeE 3R gy

RratRgE ; S AFGUS] & &0 H
i | wdisit 3 i o1 weema T

C |feeithes R fExithes 111 | Tl 1 SEiS g

vt & et 7 sdmal
D | ==l Iefiere® V. T T T
4 fGU TN faded! § 9 FT 3R & 99+ Bl

1. A-IIT, B-IV, C-II, D-I

2. A- IV, B-III, C-1, D-II

3. AL B-1, C-IV, D-II

4. A-TV, B-III. C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212311731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-1 List-IT
First discovery of fossil type Country
A | Neanderthal Man [. |Indonesia
B.|Homo erectus II. | South Africa
C. | Gigantopithecus IIL. | Germany
D | Australopithecus IV | China

Choose the correct answer from the options given below:

Options :

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212311731 Question Type : MCQ Option Shuffling : No

1. A-IIL B-1, C-II, D-IV

2. A-IV, B-II, C-1, D-IIT

3. A-1L, B-1, CIII, D-IV

4. A-I11, B-1, C-1V, D-I1

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifsy

mw%@ﬁr ngnﬂ
A | FUUEge 1M I |SusHREmr
B |5 3¢aed I1. | & HTeanT
C |SEi=itdey 111 | ST
D | JTEaiasd V|
Aid feu U fad el § 9 @gT 3R &l 994 DIl

1. A-IIL, B-L, C-II, D-IV

2. A-1IV, B-1I, C-1, D-III

3. A1l B-1, CIII, D-IV

4. A-1I1, B-1, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212311732 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-1 List-IT
Chromosomal aberration Syndrome
A XYY [ |Klinefelter Syndrome
B.|X0 II. |Edward Svndrome
C | XXY IIL. | Tumer Syndrome
D | Trisomy 18 IV | Jacob Syndrome

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-IV, B-I, C-III, D-II
3. A-IV, B-II, C-1, D-III

4. A-IV, B-III, C-1, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212311732 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

nggl Tt I
A lxyYy I (gt gagm
B.[x0 1. (TSas Haam
C. |xxy 111 | &% GaTam
D. | BTG 18 IV. [Sdhd Haia

i feu U famedl § 9§ 8T IR &1 994 Difofu:

1. A-IV, B-1, C-II, D-III

2. A-IV, B-1, C-1II, D-II

3. A-IV, B-1I, C-1, D-III

4. A-IV, B-1II, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212311733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

Carolus Linnaeus

List-1 List-IT
Author Concept/Book
A |A Wallace [. |Catastrophism
B. | Stephen J. Gould II. | Systema Naturae
C. | Georges Cuvier III. | Natural Selection
D

V.

Punctuated equilibrium

Choose the correct answer from the options given below:

1. AL B-11, C-I, D-IV
2. A-IIL, B-IV, C-1. D-IT
3. A-IIT, B-1, C-1IV, D-II

4. A-IIT, B-II, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212311733 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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A |U gicyg L |geifqufiarg @ewrihe)
B |EhA 9. e 1L | AT A

c |Sreg Bfam 111 | M fdd oo

D. | BRIy ey v, | fquisd dged

HId feu I f[dedl § ¥ gaT IR &1 99 S IfoIu:

1. A-IIL B-IL, C-I, D-IV

2. A-IIL, B-IV. C-1, D-II

3. A-IIl, B-1, C-1V, D-II

4. A-III, B-11, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212311734 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-I List-IT
Scholars Research
; Coefficient of Racial
A | AH Bittle L. Likelihood
B.|PT Baker II. | Consanguinity
C.|P.C. Mahalanobis IIL. | High altitude adaptation

D. | Karl Pearson

IV.

D~ statistics

Choose the correct answer from the options given below:

1. A-IIL, B-IL C-I, D-IV

2. A-II, B-IIL, C-1IV, D-1

3.A-IV,B-III, C-1, D-II

4. A, B-1, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212311734 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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5 W
A |uug faed L | TSIy G 3{Teddl ToTd
B [di. & dax 1. | TrRadd
. |dt. i serarifag 111 | 3 T 3FdeH
D. | fuee IV. | D? wiferat

A< QU U {9 edl T 9 a7 IR &I 999 DIl

1. A-III, B-11, C-1, D-IV
2. A-II, B-III, C-IV, D-1
3.A-IV, B-III, C-1, D-II

4. A-1IT, B-1, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212311735 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-1 List-IT
Primates Habitat
A | Marmosets [. |Madagascar
B.|Lemurs II. | Western & Central Africa
C. | Orangutans IIL. | Borneo & Sumatra
D. | Gorilla IV | South Africa

Choose the correct answer from the options given below:

1. A-IL B-L C-IIL, D-IV
2. A-II B-IV, C-II1, D1
3. A-IV, B-I, C-III, D-TI

4. A-IIT, B-II, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212311735 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A |HHgey L [FermaR

B |cmd 1L | 9fEedi &R 0e b
C. | 3fierg 111 | &ifar SR gAm

D. | Tieesn IV. | Giéror R

A1d fGU U f[ddhetl § ¥ F8T 3R &1 994 SIS
I. A-IL, B-I, C-III, D-IV
2. A-Il B-IV, C-III, D-I
3. A1V, B-I, CIIL D-II

4. A-III, B-1I, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212311736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-1 List-IT
A | The Indus Valley civilization [. |A Parpola
B. | The Archaeology of India II. | WA Fairservis
.| The Roots of Ancient India III. | D.P. Agrawal
D | The South Indian Megaliths IV |REM. Wheeler

Choose the correct answer from the options given below:

|

]

4

. A-IV, B-II1, C-I1, D-I

. A-1, B-II, CIII, D-IV

. A-III, B-1, C-IV, D-IT

. A-II, B-IV, C-1, D-IIT

Options :

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212311736 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1d 1Y &I 11 DT e Hifoy

I qE 1
A | & U=y qell fidegeiRH L | g gRuen
B |fg ifbaaret simifem |1 |Seg U aRaRfag
C. | Fey it tREe s | | S Ot sprard
D. | & T3y Sfeg= amfery IV, | 3RS0 &R

1< ST U [qhedl § ¥ a7 IR @l 4G DIIC:

1

[

4

. A-IV, B-III, C-I1, D-I

. A-I, B-11, C-III, D-IV

- A-IIL B-1, C-IV, D-II

. A-IIL B-1TV, C-1, D-TIT

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212311737 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-I List-1T
A | An Ash-Mound site [. |Billasurgam
B. | A cave site II. | Utner
C. | A Neolithic site III. | Patne
D. | An Upper Palaeolithic site IV, | Sarutara

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-III, D-TI
2. A-1l, B-1, C-1V, D-III
3. A- IV, B-III, C-11, D-1

4. A-II1, B-11, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212311737 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T I I
A | TH T - T RT L |faemgem
B. & TR I |IFR
C. | O% FgumEm =| 1L | are
D. | U@ IR GRIITHT R IV. | OrEeRE
A fqu U fq%edl § 9 g7 IR &I 999 DIl

1. A-I, B-IV, C-III, D-II

2. A-IL B-1, C-IV, D-ITT

3. A-IV, B-III, C-I1, D-1

4. A-III, B-II. C-1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212311738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-1 List-I1
A |Radiocarbon dating [ |Volcanic rocks
B. | Fission- Track dating II. | Crystalline solids like pottery
C. |Archacomagnetic dating IIL Chrgruic matecidla e
& 2 charcoal and wood
D | Thermoluminescence dating IV | Clay and clay soils

Choose the correct answer from the options given below:

1. A-II, B-IV, C-I11, D-I

2. A-IV, B-1I, C-1, D-IT1

3. A-IIT, B-1, C-1IV, D-I1

4. A-1, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212311738 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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T

R I

A |MfeamEd @ra HuRo L |soemEE 2 98

B. | 5= - & i 1L | qeHis oY fpeedig oy
| i | TR 3R P18 ST Sfa®
D. |y ufadif era Hefzo 1v. | gfiest SR it fafgal

HId feu I f[dedl § ¥ gaT IR &1 99 S IfoIu:

1. A-II, B-1V, C-IIL, D-I
2. A-1IV, B-1I, C-1, D-III
3. A-IIl, B-1, C-1V, D-II

4. A-I, B-III, C-II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212311739 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Match the List-T with List-IT

List-1 List-I1
Name of the Tribes Name of the Anthropologists
A | Apatani [ |WHR. Rivers
B |Lodha II. |C.V. Furer-Haimendorf
C.|Toda III. | 5.C. Dube
D |Kamar IV |PK. Bhowmik

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV. D-III
2. A-II, B-IIL, C-1, D-IV
3.AIL BV, C-L DA

4. A-II, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212311739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A | 3oty L |ssg g o fad
B. | e I |9 §f gREREw
c. |gmE . | o9, 9. gd

D |®HHER v |4t & 1if®

A1d fGU U f[ddhetl § ¥ F8T 3R &1 994 SIS
I. A-IL, B-I, C-IV, D-III
2. AL BIL C-I, DIV
3. A-IIL B-IV, C-L D-II

4. A-II, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212311740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 161/183



8/31/24, 10:29 PM

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List-I List-IT
Authors Book/ Concept
A |AL Kroeber [ | Growing up in New Guinea
B | A Kardiner & R Linton e b
Growth
C.|B. B. Whiting & others oy | SR e raaraly meic) St
= personality
D. | Margaret Mead IV. | Six Cultures

Choose the correct answer from the options given below:

1. A-I1, B-1, C-1IV, D-II
2. A B-1, C-III, D-IV
3. A-III, B-1I, C-IV, D-1

4. A-II, B-III, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212311740 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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= =
A | U U BRIR L |ZfdT amg g3 g A
B. | U PIfER 3R R f&=a 1L | SR 6% Sdoaid Uiy
C. |4t . f@fe ofix o I | et
D. |mEleHis v, | e Sead
T feu U fasedl § 9§ Tl 3R &l 99 B Ifoig:

|

]

4

. A-II, B-1, C-IV, D-III

. A-IL B-1, C-III, D-1IV

- A-IIL B-11, C-1IV, D-1

. A-II, B-III, C-IV, D-1

Options :

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212311741 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI

Anthropologists

LISTII

TypologiesMajor ideas

A | Marcel Mauss L

Reciprocity, Redistribution and Market Exchange

B. | George Dalton 1L

Obligation to give, Obligation to receive, Obligation to reciprocate

Marshall
. Sahilins III.

Generalized reciprocity, Balanced reciprocity, Negative reciprocity

D. |Karl Polanyi V.

Market less economies, Economies with perrpheral markets, Market
£CONomies

Choose the correct answer from the options given below:

1. A-IV, B-111, C-1, D-II
2. A-IIL, B-1I, C-I, D-IV
3. AL B-IV, C-1I1, D-1

4. A-II B-IV, C-1, D-IIT
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id :

Correct Marks : 2 Wrong Marks : 0

34212311741 Question Type : MCQ Option Shuffling : No
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T I I
e fagt T A
. HTEH- U&H, AfdaRo 3R
A | HEg L [ ttess
T BT I, U B3 &l
B. | 9id Sleed 1L | GId, 36 - UaH & @1
cifda
dIHIHIged HIGH - UG-
C. | Hreid wEfey 0. | Sqferd e UgH
THRIES ATGH HGH
D | Pret dierrf Wa@mﬁwm
3efenawTl
A feu ¢ fad el § 9§ T8l 3R &1 99 dIfIu:

1. A-IV, B-1II, C-I, D-II

I

. A-IIL B-11, C-1, D-IV

3. AL B-1IV, C-1I1, D-I

4. A-II. B-1IV, C-1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212311742 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

List-1 List-IT
Concepts Anthropologists
A | Cultural hegemony [ | Edward Said
B. | Cultural capital II. | Gramsci Antonio
C. | Symbolic violence II1. | Michel Foucault
D. | Cultural imperialism IV, | Pierre Bourdieu

Choose the correct answer from the options given below:
1. A-IIT, B-1I, C-1, D-IV
2. A1, B-1IV, C-II, D-II
3. A-III, B-IV, C-11, D-T

4. A-I1, B-1V, C-II1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212311742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifsy

S ey
A | grofa® ny@ L |Tsas Us
B. | Tipia®m 4o 11 | ST e
C |wdieE® ea 111 | AIS&d Bidlee
D. | GRpld® GHegdre v, | o |ifsy

HTd 13U T fddhed! § ¥ 9l 3R &1 98 HIfoig:
I. A-IIL B-IL C-L D-IV
2. A-L, B-IV, C-IIL, D-II
3. A-IIL B-IV, C-IL D-I

4. A-II, B-IV, C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212311743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

List-I List-IT
Cultural perspectives Anthropologists

i Culture as an ideological i lereeie

system
B. | Culture as drama II. | Marvin Harris
c Culture as svstems of 11 | Wictor Turner

adaptation

D. | Culture as structures of mind IV. | Clifford Geertz

Choose the correct answer from the options given below:
1. A-I, B-III, C-IV, D-II
2. A-IV. B-1I, C-III, D-I
3. A-I B-III, C-11, D-1IV

4. A-IV, B-1I1, C-11, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212311743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T T R I
Hiepias oS EIECACEIET
o |EEREE SRS | 5 | . e
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p [T Bl WA S FAH [ | e
-9 fqu Y fasedl # 9 Ul SR &1 98- BT

|

%

-A-L B-III, C-IV, D-II

.A-IV, B-1I, C-ITI, D-1

. A-1, B-III, C-1I, D-IV

4. A-IV, B-111, C-II, D-1

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212311744 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Dance Forms Tribes
A |Earam I [Khond
B. |Dhimsa II. [Mundas
C. |Bhagoria ITI. [Khasis
D | Sad Suk Mynseim | IV, | Bhils

Choose the correct answer from the options given below:

1. A-II, B-1, C-IV, D-III
2. A-IL, B-IV, C-1, D-IIT
3. A-1, B-III, C-1IV, D-II

4. A-I, B-I1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212311744 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

A |EE L (@S
B. |femam 1L | quer
C. | vt 1088 EGiEs]
D. | 4TS Y& HEHIH v | id

[

14 13U T fas el | 9 gl IR &1 994 HIU:

1. A-II, B-1, C-IV, D-III

2. AL B-IV, -1, D-II

3. A-l, B-III, C-1V, D-II

4. A-1, B-11, C-1IV, D-III

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 342123460
Question Shuffling Allowed : No

Question Id : 34212311745 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the passage and answer the questions:

Relative to common chimpanzees, bonobos live in a more restricted geographic range and are
less divided than chimpanzees, who are divided into at least three well recognized subspecies.
The area of suitable habitat available to bonobos may always have been smaller than that of their
congeners to the north, especially during periodic contractions of the tropical forests of equatorial
Africa, when much of the forest cover south of the Congo River was substantially reduced.
Perhaps during these times. the bonobo populations passed through, bottle necks, resulting in the
smaller effective population size (Ne). There could be little, if any social or reproductive factors
that could give chimpanzees a larger Ne than bonobos: bonobos have a more equal adult sex
ratio, and chimpanzee females are not more promiscuous than bonobo females.

In contrast, there are many social and ecological differences between chimpanzees and gorillas
that may result in lower Ne of gorillas. Gorillas live in smaller social groups, which contain one
or two adult males who monopolize access to several females in the group, whereas chimpanzee
temales mate promiscuously within the social group. Species with strong polygyny, will have
reduced male Ne. and therefore a lower overall Ne. In addition. compared to chimpanzees.
gorillas live in a more restricted habitat. Thus, gorillas have more limited ecological tolerance
than chimpanzees: and past environmental changes have sent them through several bottle necks.
resulting in lower Ne.

Sub questions

Question Number : 141 Question Id : 34212311746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Species with strong polygyny is likely to have

1. higher overall N,

]

. lower female N,

3. lower male N,

e

. higher fertility rate

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212311747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Bonobos passed through genetic drift because

1. of the periodic reduction of their habitat

t2

. they were more promiscuous

L

. they have equal adult sex ratio

4. their overall N, became reduced

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212311748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the followings may not be a reason for lower N, among gorillas than chimpanzees?

l. Restricted habitat

b2

. Lower male N,

ad

. Practice of promiscuity

4. Wider range of mobility

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212311749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct?

|. Bottle neck effect reduces mate choices

t-2

. Bottle neck effect increases mate choices

3. Bottle neck effect increases N,

4. Bottle neck effect increases variability of alleles.

Options :
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1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212311750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct?

1. Pan troglodytes lives in the northern side of the Congo River.

]

. Pan troglodytes are lesser in body size than Pan paniscus
3. Pan troglodvtes have an equal adult sex ratio

4. Pan paniscus are more sub divided than Pan troglodytes

Options :
1.1
2.2
3.3
4.4

Question Id : 34212311745 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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U ferr=rt &1 a1 H, aHEY U it Jifid Yifad &3 5 3gd § SR faamfmt
Y ®H & gU T, Sl fb =gan Ji9 gy Iudiifadl 4 §¢ gU S| ey & (67U Sucsy Sugad
ATy - ®IM &1 &4%d 3R & 379d Joliadl &I a1 § Yad gl ®H g1 8l Ybdl g, [d2
U Y YA BT & IUDHICH- a4l & 3fddl Ypdd & SR, oid il gl & aieor J
d3l gUTBIGd 319 ¥9 U $H gl T IHad: 39 9HY & GRH, dHEd $I gl
diedd ¥ Toil, fSgd uRumE=g gyrdl Sddl AHR (Ne) B gl T $F gl
GHISTh g1 Yo & dls SRS gl Tbd o Sl il &l diFdg 9 3HiEd Ne ¢ Udbd o -
dHEN T Y YO Uig [ETUrd gid1 g 3R A1el fmril A16] SH1e" & do1 § #{fdd
Wws-c — YU 81 gidl ©

fawa =g 9, o=l R Mikedist & dih 9gd 9 g ok aikfeiae f4=ard gidi @
forgds gRUMEEEY MR8 BT Ne YR g Yol g1 MR ©1¢ giifsie Tggl o Ygd
¢, IorH Us a1 3 Uig R Bl § Sl 94g DI $s HIGIS db Ugd R UHNYDHR B dd 6.
Sldfd Arer ferrsil gHifsie THg & HidR g1 Wwba YHNT Dl §1 I dgaiH- drell
SHfagl § fEidd TR Ne BT 3R 39 SR Hdl Ne HHAR S| 91y &1, =gl &1 ga-n o
TiReet 31t Hifd (el @ ¥gd §1 39 USR, MRewrsdl § famif<sai &f gen o s
UTRIfd Gg==iiddl gidl ©; 3R Yddld & Jgiauiiy gRad-i 4 3¢ d9gd 4 dica-dq &
I U fean forgds URumas1 Ne 9aR g1 |

Sub questions

Question Number : 141 Question Id : 34212311746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A1 H Sgurel drell Sl 8 9 &t e e g -

1. 3=dd¥ ©cf Ne
2. FER AGIN,
3. IR R Ne

4. 3=dY Yol fad X

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212311747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AHIENY & ARG 3UdIg T TR BT HRUT YT -
1. 37db AT - R T 3f7acdt &9 Y "

WG - JHI Y

. 3BT YU Uig femHurd o1

[~

LS

4. 39D Hd N, HH gl I

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212311748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiad @ ¥ & 91 =gl &1 gaqr 3 MiRedis 8 Ea Ne &1 Ub GRUI g1 6l
gl

L. Giffd e - =iH
2. TR TR Ne

3. Wb - YITHA &1 HdgR
4. fqeROT @1 faxga i

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212311749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafeRad # U &H 9 H4 9d o2

 Sicad 3thde & BRI IHA & [ddhed &H gl old ¢

—

f-2

 dled-d 3hdd & HRUUTHA & f[ddhed d¢ old g |

L

_dled-d 3hdc & HRUI Ne §6 Sdl ¢

4. diea-d Shde Tdied &1 YRdlddl i deldi gl

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212311750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad ® 9 & 91 YT 4 g

O ZHalSTEed ST 9] & Il W gd g

O SRCISIST @1 U9 Qb g &1 ga-l 3 TRING SHThR DI el 6|
3. 7 SRelSTged o WA UG feRgurd gidr g

4. O QT G ZicilSIged @1 ol 3 ©F Sy gid ¢

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123461
Question Shuffling Allowed : No

[

2

Question Id : 34212311751 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Read the passage and answer the questions:

Geertz’s explanations are usually disguised in interpretive euphemisms. but they are there
nonetheless. He is the most prolific euphemizer, circumventing the standard English word
“explain™ with such terms as “render accessible”, “dissolve the opacity of”, “grasp™, “clarify”,
“reduce the puzzlement of”, “render intelligible”, “interpret”. and of course “thickly describe”. In
spite of these circumlocutions and his programmatic statements to the contrary, however, Geertz
gives believable explanations of much Balinese public behavior as culture. For example, in the
first few pages of “Deep Play: Notes on a Balinese Cockfight,” Geertz explains why the
Indonesian government tries to stop cockfighting, opium smoking, begging. and the uncovering
of breasts (it sees them *“as primitive, backward, unprogressive, and generally unbecoming an
ambitious nation”): why illegal cockfights can be held in the wvillage (the officials are bribed).
why he and his wife were accepted by the villagers (they showed their solidarity by fleeing with
the villagers from a police raid); why Balinese men are obsessed with their fighting cocks
(fighting cocks are masculine symbols par excellence); why babies are not allowed to crawl and
children’s teeth are filed (to distinguish them beasts. which are abhorred); and so on.

Sub questions

Question Number : 146 Question Id : 34212311752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Culture according to Clifford Geertz is best represented in:

1. Balinese public events

t2

. Anthropologist's explanations
3. People's mind

4, Balinese values and attitudes
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212311753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The obsession of Balinese men for cockfight reflects:

1. Fondness for betting

t2

. Love for the sports
3. Assertion of gender identity

4. Symbolises the importance of the bird in Balinese society

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212311754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The phrase “thickly describe’, used in the paragraph refers to:

1. Detailed description of behaviour or an event

t2

. Emic perspective

L

. Interpretation of the interpretations of people

4. Holistic explanation

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212311755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term euphemism in the paragraph refers to:

1. The clarity in expression

]

. Lack of interpretation

L

. Explanations represented as interpretations

Y

. Interpretations as causations

Options :
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1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212311756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Organisation of illegal cockfight in village indicates that:

1. People are against the state
2. People don't want to change their behaviour
3. Illegal fights are opportunities for betting

4. There are multiple values and meaning in a culture

Options :
1.1
2.2
3.3
4.4

Question Id : 34212311751 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212311752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFm s TadT & IR, WPid U9y =0 F AfHaad gidi § -
1. STcll & A1 & S - el
2. HI-d A1 1 el |
3. |7l & AikTss

4. STl & <1 & Hed! 3R AIghal #

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212311753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTel & TN Bl P - = b UG ¢F T8 ufafeifad Hdi g -
1. e dlsll &l dld
2. el & ufd Uy

3. AR UgdH Bl egdh Y-

4. d1clt Ga1S 4 g&fl 1 gl &l Udld U T Uxdd Hdl g

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212311754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212311755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ H e YbiaeH (fiaifad HefHd Hdrg -
1. HfYyefeT o Ty

2. R P 3Hd
3. 3ffR=gun & = U H Red
4. B - HRUI - HId & F0 H =g

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212311756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4
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